I S Y S

5712 +42 =

Round 1275 to the nearest
hundred =

93 =
Simplify > -

10
18 + (3 x7) =
18 —11.09 =
0.07 x 10 =
8-13 =
1264 x 34 =
765+  =1245

7476 42 =

Round 7653 to the nearest
hundred =

143 =

Simplify % =

84 —-10+ (8 x4) =
74 —34.75 =

0.07 x 100 =

23 -35=

2754 x 34 =
1853+  =2355

8946 + 42 =

Round 18975 to the nearest
hundred =

19° =

Simplify 3—2 =

137 —46 + (8 x9) =
136 —98.125 =
0.007 x 100 =

08 — 125 =

8635 x 34 =

7735+  =12865
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5712 +42 =136

Round 1275 to the nearest

hundred = 1300

93 =729
Simplify % = %

18 + (3 x7) =39
18 - 11.09 =6.91
0.07 x 10 =0.7
8-13=-5

1264 x 34 = 42976

765 + 480 = 1245

7476 +42 =178

Round 7653 to the nearest

hundred = 7700

143 = 2744

Simplify % = g

84 — 10 + (8 x 4) = 106

74 —34.75 = 39.25
0.07 x100 =7

23 —-35=-12
2754 x 34 = 93636
1853 + 502 = 2355

8946 +42 =213

Round 18975 to the nearest
hundred = 19000

19° = 6859
Simplify 3—2 = %

137 -46 + (8 x9) =163
136 —98.125 = 37.875
0.007 x 100 =0.7

08 — 125 =-27

8635 x 34 =293590

7735 + 5130 = 12865



